
D/. The engraving effect and the cutting effect has problem.

For example, Cutting a square, 90 degree is not vertical or

cutting edge uneven.

a.To adjust the laser path. After a long period of transportation or

using the machine a period of time, the laser path will have some

deviation . You can refer to our file how to adjust the laser path in

detail.

b.The platform is not uneven.

You need to adjust the platform as follows:

1. You should put the glass on the platform. Use this ruler to

measure the distance from the guide rail to the glass. Please

measure the distance in every corner.

Note: In the measurement process, be careful to scratch the hand.

You can wear the gloves to protect your hands.



2. If the distance is not same, please adjust the nuts in the

machine. It can keep the platform balance.

The ruler



Note: The deviation of measurement from the guide rail to the

glass can’t exceed 4 mm.

c.The belt is loose. You can adjust the nuts in the belt. It can make

belt become tight.


